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\documentclass{article}
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\begin{document}
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\end{document}
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\documentclass{article}
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\documentclass{article}
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\begin{document}
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\command [option]{m1}{m2}

\begin{environment} [option] {m1}{m2}

\end{environment}
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37 command®} environment”/} ULt

\command [option]{m1}{m2}
\begin{environment} [option] {m1}{m2}

\end{environment}
e option2 HHSE 2aH0F StCh (BH07 SHS XIFst 82)
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\begin{center}
\LARGE Centering! $\sqrt{2}$ $\sqrt[3]1{2}$

\end{center}
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\documentclass{article}
\usepackage{kotex}
\begin{document}

HojM 8t2 20| JtsELICt.

\end{document}
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\documentclass{oblivoir}

\begin{document}
st2EMoll = =3t = of7|X|, 22|F0t(oblivoir) QL|Ct.
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\end{document}
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\documentclass{oblivoir}
\title{2}E| S 27|}
\author{H&

\date{2022}

\begin{document}
\maketitle

HFSIMI 2.

\end{document}
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\chapter [ZE XN|Z1{HME{ 0|2} % \documentclass[chapter]{oblivoir}
\section[Z2 XN|=]1{& 0|E}

\subsection[Z2 MN=E]{A A 0|&}

\chapter*{fE{ O|&} / \documentclass[chapter]{oblivoir}
\section*{& 0|5}

\subsectionx{A~ & O|E}
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\textrm{...
\textsf{...
\texttt{...
\textmd{...
\textbf{...
\textup{...
\textit{...
\textsl{...
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\textscq{...
\emph{...}
\textnormal{...}

Lectures on IFIEX (roman)
Lectures on ATEX (sans serif)
Lectures on KX (typerwriter)
Lectures on TEX (medium)
Lectures on XX (bold face)
Lectures on IATEX (upright)
Lectures on KTgX (jtalic)
Lectures on KTEX (slanted)
LEcTURES oON IATEX (small caps)
Lectures on KTEX (emphasized)
Lectures on TEX (document font)
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\begin{flushleft}

This text is\\ left-aligned.
\LaTeX{} is not trying to make
each line the same length.
\end{flushleft}

\begin{flushright}

This text is right-\\aligned.
\LaTeX{} is not trying to make
each line the same length.
\end{flushright}

\begin{center}
At the centre\\of the earth
\end{center}

This text is
left-aligned. IATEX is not trying to make each line the
same length.

This text is right-
aligned. IATEX is not trying to make each line the
same length.

At the centre
of the earth
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\documentclass[footnote]{oblivoir}

\begin{document}
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\end{document}
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\documentclass[11pt,adpaper]{oblivoir}/9pt, 10pt, 10.5pt, 1ipt, 12pt, 14pt, 17pt
#\documentclass[11pt, chapter, apaper]{oblivoir}t/twoside, openright, openleft, openany
#\documentclass[10.5pt, romanfized] {oblivoir}

e chapter’t 9= A : article

e chapter/t Y= A : book
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Q: & =02 HEA 277

part

chapter
section
subsection
subsubsection
paragraph
subparagraph
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\counterwithout{section}{chapter}

\counterwithin{section}{chapter}

\setsecnumdepth{subsection}/memoir, oblivoir
o X e FHN= E W0 H HSIF HEILA| =T 20t= 0L
o T BN FHN= M22 HO| AIRE [0 2 Ho: XZ8 A
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Joblivoir

\documentclass [a4paper]{oblivoir}

\usepackage{fapapersize}

\usefapapersize{210mm,297mm, 30mm, * , 30mm , 32mm}

° SE8Al: QiiE EX
o HYEX|: MM BiEtEE 84

\documentclass[stock]{oblivoir}

\usepackage{fapapersize}

\usefastocksize{210mm,297mm}

\usefapapersize{184mm,257mm, 25mm, * ,25mm, 28mm} /=}=071&H

ofef Z0f 4
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\SetHangulspace{1.3}{1.1} %\begin{document} O]
\ResetHangulspace{1.3}{1.1} /EA SZI0AM &7ZIE2 =A

Anot oblivoir
\usepackage{setspace?}
\usepackage{footmisc}

\renewcommand{\footnotelayout}{\setstretch{1.1}}

\setstretch{1.3}
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\usepackage{kotex}
\setmainfont{TeX Gyre Termes} /U E AM|Z|Z =E
\setsansfont{TeX Gyre Heros} /U F LIM2Z|Z= EZE
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\setmonofont{Lucida Console} JQUIE D =ZE
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\setmainhangulfont [BoldFont={KoPubBatang Medium}]{KoPubBatang Light} /St= A|Z|=
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\setsanshangulfont [BoldFont={KoPubDotum Medium}]{KoPubDotum Light} /Gt= AtA|Z|Z=

\setmonohangulfont{D2Coding} /Sl2 2= =E

\setmainhanjafont{HanaMinA} /StA} M|2|Z= ZE
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Z12 OverleafOl M| MAIE Mot H MAIIYS HEZEst
\setmainhangulfont{NanumGothic}[

Path=./Fonts/,

Extension = .ttf,

UprightFont=x,

BoldFont=*-Bold,

fo
my
Mo =
opt

7ol 3go

1]

Y=ot E.

33/39



Step 3. 2%, 7|52X}

* HHO= \footnote{ZtF
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IC}. \marginpar{2fF}
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o A9 AEH0|| 2} \footnotemark, \footnotetext{ZtZ=LH 212 AI25H0}
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* Oblivoire| Z Bta4! ZIFE M1 HOHH

\documentclass[footnote]{oblivoir}
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\usepackage [ =/ ]{dhucsfn}
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\makepagestyle{myheading}
\makeevenfoot{myheading}{\thepage}{}{}
\makeoddfoot{myheading}{}{}{\thepage}
\makeevenhead{myheading}{2022-1\quad s{&{7§E I}{}{20220001
\makeoddhead{myheading}{20220001 EZS}{}{1X} TN}
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\pagestyle{myheading}
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21123 (thebibliography)
\begin{thebibliography}{2tg!}
\bibitem[=M7[]{Ql St}
\end{thebibliography}
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\begin{thebibliography}{9}
\bibitem{J} J. Leray, \textit{Etude de diverses équations intégrales non lindaires et

— de quelques problémes que pose l'hydrodynamique}, J. Math. Pures Appl. 12 (1933),
— 1--82.

\bibitem{J2} J. Leray, \textit{Sur le mouvement d'un liquide visqueux emplissant
— 1l'espace}, Acta Math. 63 (1934), no. 1, 193--248.
\end{thebibliography}
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Step 6. AMS Environment

* Yol 87 52 BHGH W7 |X
o 2 =20|ME BE
o 312 A0S Cha MBIGHR) Q0F T2 TH7|XISS EEGHA A8t 20| ZOLY,

\usepackage{amsthm}

\theoremstyle{plain}

\newtheorem{theorem}{Theorem} [section]

\theoremstyle{definition}

\newtheorem{definition}[theorem]{Definition}

\theoremstyle{remark}

\newtheorem{remark} [theorem] {Remark}
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Step 6. AMS Environment

\begin{definition}
A natural number $p$ is said to be a \emph{prime} if it is greater than 1 and cannot be
— written as the product of two smaller numbers.

\end{definition}
\begin{theorem} [Euclid]

There are infinitely many prime numbers.

\end{theorem}
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